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1   Introduction 
IOT has found different interpretations on SYNC protocol (TS25.446 [1]). This contribution discusses these interpretations, and propose a way forward.

2   Detailed Analysis 
2.1   Elapsed Octet Counter and Total Number Of Packet
According to TS25.446,
5.5.3.4
Elapsed Octet Counter

Description: This parameter indicates the number of elapsed cumulative octets cumulatively within one synchronisation sequence. It helps the RAN Access node to know how many packets were not received in case of packet loss. This counter is reset at the end of every synchronisation sequence. Octets of SYNC PDUs of Type 0 and Type 3 are not counted by this parameter.

…
5.5.3.6
Total Number Of Octet 

Description: This parameter indicates cumulatively the number of the octets for the MBMS service within one synchronization period. Octets of SYNC PDUs of Type 0 and Type 3 are not counted by this parameter.

…
5.5.3.16
Length of the Nth Packet

Description: This parameter indicates the length of the SYNC PDU within the synchronization sequence in octets. It helps the RAN Access node to recover from de-synchronization in case of the loss of consecutive SYNC PDUs. 
There are different interpretation regarding whether the Elapsed Octet Counter and Total Number of Packet are about the number of the octets of the SYNC PDU(i.e. SYNC PDU with SYNC header), or only the payload part (i.e. SYNC PDU without SYNC header)
Proposal 1: RAN3 clarify whether the Elapsed Octet Counter and the Total Number of Octet refer to the whole SYNC PDUs, or the SYNC PDUs without SYNC header.

2.2   Packet Number and Elapsed Octet Counter

According to TS25.446,
5.5.3.3
Packet Number

Description: This parameter indicates the number of elapsed SYNC PDUs cumulatively within the synchronization sequence. It helps the RAN Access node to notice the loss of SYNC PDUs. Additionally it is used to reorder the PDUs in the RAN Access node. The Packet number is reset at the end of every synchronisation sequence. SYNC PDUs of Type 0 and Type 3 are not counted by this parameter.
…
5.5.3.4
Elapsed Octet Counter

Description: This parameter indicates the number of elapsed cumulative octets cumulatively within one synchronisation sequence. It helps the RAN Access node to know how many packets were not received in case of packet loss. This counter is reset at the end of every synchronisation sequence. Octets of SYNC PDUs of Type 0 and Type 3 are not counted by this parameter.

…
There are two different interpretation regarding the “elapsed”. For example, let’s assume there are two packets for a specific synchronize sequence. The 1st packet is 400 bytes, and the 2nd packet is 600 bytes.
· Interpretation 1. 
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Figure 1 – Example for interpretation 1
· Interpretation 2
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Figure 2 – Example for interpretation 2

We believe Interpretation 2 is correct for following reasons:

· both Packet number and Elapsed Octet Counter are reset to 0 at the end of every synchronisation sequence. 
· the meaning of “elapsed” equals to “passed” ([2]). 

So both Packet number and Elapsed Octet Counter shall be set to 0 for the 1st SYNC PDU in every Synchronisation sequence.

Proposal 2: RAN3 clarify that both Packet number and Elapsed Octet Counter shall be set to 0 for the 1st SYNC PDU in every synchronisation sequence.  
3   Conclusion and Proposals

This contribution analyzed the different interpretations for SYNC. We would like to ask RAN3 to discuss these interpretations, and clarify the correct one. 
Proposal 1: RAN3 clarify whether the Elapsed Octet Counter and the Total Number of Octet refer to the whole SYNC PDUs, or the SYNC PDUs without SYNC header.

Proposal 2: RAN3 clarify that both Packet number and Elapsed Octet Counter shall be set to 0 for the 1st SYNC PDU in every synchronisation sequence. 

We are willing to provide the corresponding CR based on RAN3 agreement. 
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